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Q.1 | a. | What is IoT? Write the characteristics'6f IoT system. 4 L2 CO1
b. 8 | L2 | CO1
c. 8 | L2 | CO2
Q2 |a 8 | L2 | CO2

b. | With a neat diagram, explain the nctwtzu,li$ communication between two | 7 | L2 | CO2
hosts follo ving the OSI model

id TCP/IP model. 5 L2 | CO2

&
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Q.3 | a. With a block diagram, explain the functional éh,loc of a typical gensor | 10 | L2 | CO2
node in IoT. ol ¥ g
b. | Explain the factors affectmg sensorial dav%oms 10 | L2 | CO1

SN |
Q4 | a Explam the &e&s red charactenstlcs @gacfuators used méon 10| L2 | CO3

g 10|12 | CO3
10 | L2 | COZ
10| L2 | CO2
|
10 | L2 | €Ol
demerit. -
b. | Explain IoT device seleéfi"bﬁ” considerations. 10| L2 | CO2
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Q.7 What is virtualization? Explain its advantages from end% sef and service | 10 | L2 cO2
provider point of view. ) ¥
Explain service level agreement and its metrics @Q@M ébmputmg 10| L2 | CO2
S
OR 5 =
Q.8 . | With a neat diagram, explain architecture é&a: _génsor cloud platform. A%;m 10| L2 | CO1
10| L2 | CO1
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Q.9 | ' Briefly explain the components;%ﬁhwuiar IoT. 10 | L2 | CO2
s Toud

|

b. | Explain the layered archltecgﬁg of AmbuSens. 10 | L2 | CO2
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Q.10 With the help of-a hlock diagram, explain the ;@rchitecture of healthcare | 10 | L2 co2
IoT. Fa ¥
ﬁ: e e
10| L2 | CO2

Explain the~ foﬁr ‘categories of Machine L”“é@.a;ﬁmgs
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